eereard fagafdamera udlen yea-4ad, 2012
B. Com. (Part I) EXAMINATION, 2012

(10+2+3 Pattern) rtuonline.com (Faculty of Commerce)
ACCOUNTANCY AND BUSINESS STATISTICS
Second Paper (Business Statistics)

Time allowed : Three hours Maximum marks : 100
. () Whatare the limitations of the use of statistics in economic analysis?
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(i)
(iii)
(iv)
)
(vi)

(vii)

What is meant by collection of data.

THH B HF @ | a@d &2 rtuonline.com
Give the meaning of qualitative ¢lassification.
TOTSF A fRd Faq &2

What is meant by biased erros?

i farysr o1 r aread 22

If for ten observations Y (X-1 l)=i‘}', find out ¥ xand X -

g 10y (X-11)=17, 3 x a=m ¥ Fa#Ifqd|  rtuonline.com
If the variance is 148.6 and ¥ = 40, find coefficient of variation?
A e 1486 & 3R 7 = 40 % o e fermror o B2

Give the meaning of skewness.

Taswanr =1 a1 |agy

(viil) Write meaning of Lag and Lead.

(ix)

(x)

(@

(i)

(1ii)
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If Index No. of 2009 was 145 and 2010 it is 192 then what is the
percentage increase in index number?

AfT 2009 H YaFIF 145 & 3 2010 F1 192 & & GEwiwl § fray
wiavw 3fg g2 |
What do you mean by splicing.
ferdamam o a1 fafiad

If the class mid-points in a frequency distribution of age of person
are 22, 31, 40, 49, 58 and 67, find out the size of class interval and
the class limits assuming the age quoted is age completed on last

birthday.

s safwdi # org wie foraor & e fag ®99: 22, 31, 40, 58 3l
67 & 1 9= T ol Wt e e ) % TR g e sfaal 9 srde
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Write the objectives of tabulation.
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50 passengers were found the ticketless on a bus. The sum of square
and the standard deviation of the amount found in their pocket
were Rs. 6,250 and S respectively. If the total fine imposed on these



passengers is equal to the amount received from them and fine
imposed in uniform, what is the amount each one of them has to

pay as fine? rtuonline.com
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(iv) If two regression coefficients are 0.5 and 0.9, find the value of
coefficient of correlation.  rtuonline.com
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(v) Whatis Consumer Price Index Number?
e frale gawi® ¥ 71 I3 E?
Descriptive Part-11 Maximum Marks-60
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Section - A (@US- 37)

3. Why is sampling necessary in statistical investigations? Explain the
methods of sampling commonly used.  rtuonline.com
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Simplify the following distrtibution and determinc mean, median and
mode : |

X Y
10-20 5
20-30 7
30-40 10

up to 40 24
40-50 52
above 50 24
50-60 10

60-70 7



70-80 5
80-90 2
N=

frafafea angfa faator =1 St FIf9d TE qHRR AE, TeE6 a1
I8 &t IO Ffe: .
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X y
10-20 5
20-30 7
30-40 10
40 A% 24
40-50 52
50 ¥ W 24
50-60 10 - .
60-70 7
70-80 5
80-90 2

Section - B (WUZ-¥|) rtuonline.com

4. (a) From the following data, find Y x, ¥ x’ the mean standard
deviation of a group of boys:
2 (x-5)=8N=20
> (x-5 =40
i wwl | deH % 9E B GHRR Aeg 9 o fawem Sx,

sz A R rtuonline.com

2 (x-5)=8N=20
¥ (x-5)*=40
(b) The following two distribution x and y are -equal. Do you agree
with this :
X y
Standard deviation (o ) 50 50
Simple mean y 225 210

Median (M) 190 180
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(b)

(a)
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X y
AT e (o) 50 50
U= A1 7 225 210

- A& (M) 190 180

Or

From the following data, construct the price index taking average
price as base :

Rate per Rupee rtuonline.com
Years Wheat Cotton Oil
2008 2 kg. 1 kg. lkg.
2009 lkg. ~ 800gram 300 gram

2010  600gram 300 gram 200 gram

3lea geg Y IR R T IWiTRa GRS | EF YEHIS Sl T
Hifed :

T ufq .
4 g FIH &
2008 2 . 1 f&m. | .
2009 1 . 800 19 300 9™

2010 600 U 300 T 200 U™

Why is geometirc mean constructed more appropriate for the
construction of index No.? _
rtuonline.com
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Section - C (WUs-¥)
The following of two lines of regression for a bivariate data are :
y = 10 (x-5) and
x=2.5(y-14)

Find mean of x and y as well as the coefficient of correlation.
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y = 10 (x-5) 3R rtuonline.com
x=2.5(y-14)
A S x 3R y & W a9 e-grEy o |

(b) From a sample of 10 observation from a bivariate distribution, the
following results were obtained :

r=55y=40 rtuonline.com

Exz =385y?=192
2 (x+y)=947and N=10
Find the coefficient of correlation.

wqﬂmﬁ%wwﬁ%ﬁaﬂaﬁmﬁﬁrﬂmﬁﬁumm
frRmE:

=55 y=4.0
- Y x?=385y"=192
3 (x+y)?=947 and N = 10
He-T ==Y Ulia Jd Hifed |
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Write short notes on the following :
(i) Frequency polygen and Frequency cruve
(ii) Bars and pie diagrams
(i) Lorentz curve
(iv) False base line
Freaferfian W it feaiat fafad -
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